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£ Al 239,692,508 100.00 % 181,230,063 100.00 % 58,462,445 32.26 %
=3 228,486,297 95.32 % 172,021,327 94.92 % 56,464,970 32.82 %
J|l &l 2 Arad 8,849,293 3.69 % 3,644,269 2.01 % 5,205,024 | 142.83 %
JI & 2 Ara 8,849,293 3.69 % 3,644,269 2.01 % 5,205,024 | 142.83 %
E2= 56,919,909 23.75 % 50,546,936 27.89 % 6,372,973 12.61 %
S22 45,145,078 18.83 % 42,959,046 23.70 % 2,186,032 5.09 %
T <2 It 5,333,597 2.23 % 2,895,431 1.60 % 2,438,166 84.21 %
M1 310,297 0.13 % 317,307 0.18 % AT,010 A2.21 %
Ml 221 392,428 0.16 % 408,510 0.23 % AN16,082 | ~2A3.94 %
F M = Dt 2,701,109 1.13 % 1,575,572 0.87 % 1,125,537 71.44 %
21304 A 0t 722,320 0.30 % 618,854 0.34 % 103, 466 16.72 %
=l = gy 2,315,080 0.97 % 1,772,216 0.98 % 542,864 30.63 %
FoMET 146,791,002 61.24 % 111,627,764 61.59 % 35,163,238 31.50 %
= 01X & 30,849,245 12.87 % 29,902,530 16.50 % 946,715 3.7 %
0=t 94,302,291 39.34 % 62,935,433 34.73 % 31,366,858 49.84 %
23 | At 574,746 0.24 % 526,914 0.29 % 47,832 9.08 %
HAHE L 14,374,271 6.00 % 13,672,722 7.54 % 701,549 5.13 %
Z M & E Dt 2,479,204 1.03 % 1,738,977 0.96 % 740,227 42.57 %
S =KL 4,211,245 1.76 % 2,851,188 1.57 % 1,360,057 47.70 %
SA= 15,926,093 6.64 % 6,202,358 3.42 % 9,723,735| 156.77 %
wS#HE D 1,075,586 0.45 % 654,777 0.36 % 420,809 64.27 %
S AICHA Tt 3,204,449 1.34 % 2,685,167 1.48 % 519,282 19.34 %
PR} 10,221,275 4.26 % 2,574,284 1.42 % 7,646,991 297.05 %
A=t 1,229,011 0.51 % 91,436 0.05 % 1,137,575 | 1244.12 %
EX2el 195,772 0.08 % 196,694 0.11 % AN922 | A0.47 %
EE=Spl e, 6,025,640 2.51 % 5,275,890 2.91 % 749,750 14.21 %
SAHAL 6,025,640 2.51 % 5,275,890 2.91 % 749,750 14.21 %
SAHA 6,025,640 2.51 % 5,275,890 2.91 % 749,750 14.21 %
A 940,977 0.39 % 940,736 0.52 % 241 0.03 %
OISAIR = 940,977 0.39 % 940,736 0.52 % 241 0.03 %
Ol AR= 940,977 0.39 % 940,736 0.52 % 241 0.03 %
A A 1,675,478 0.70 % 566,513 0.31 % 1,108,965 195.75 %
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M2 1,675,478 .70 566,513 0.31 1,108,965
SN2 1,675,478 .70 566,513 0.31 1,108,965
SH=s 2,564,116 .07 2,425,597 1.34 % 138,519
SFoHg 2,564,116 .07 2,425,597 1.34 138,519
tHo1s 108,000 .05 107,886 0.06 114
tHolos 101,413 .04 101,315 0.06 98
tHei3s 262,730 .1 180,362 0.10 82,368
tHolds 142,073 .06 128,312 0.07 13,761
tHois=s 120,007 .05 119,807 0.07 200
tHoles 111,996 .05 108,511 0.06 3,485
2313 259,567 .1 246,382 0.14 13,185
232 145, 146 .06 142,872 0.08 2,274
2333 135,740 .06 136,710 0.08 A 970
2343 98,864 .04 94,370 0.05 4,494
2SS 98,655 .04 99,517 0.05 A 862
2eHs 160,817 .07 149,309 0.08 11,508
Zees 115,191 .05 112,487 0.06 2,704
1S 115,893 .05 113,327 0.06 2,566
f2s 101,849 .04 103,036 0.06 A1,187
1= 123,559 .05 124,308 0.07 AT49
2323 113,541 .05 109,204 0.06 4,337
F83=s 121,237 .05 119,154 0.07 2,083
2dl4=s 127,838 .05 128,728 0.07 A 890




